Allouez Village Hall 。 1900 Libal Street 。 Green Bay, Wisconsin 54301-2453 Phone No.: (920) 448-2800 。 Fax No.: (920) 448-2850

# Department of Public Works

Date: February 10th, 2024

#### 2024 STREET RESURFACING BID RESULTS

Bids for this year's street resurfacing project were opened on Thursday the 8<sup>th</sup> of February. This year's bid proposal included a base bid along with 2 alternate bid items. NE Asphalt was the lone bidder with a base bid amount of \$704,535.00. See attached bid tabulation.

The street resurfacing work as listed on the bid form includes:

#### **Base Bid**

- Kenney Street- Libal St. to Jenkel Terr.
- Sunrise Lane- Libal St. to Briar Ln.
- Brenner Place- Bittersweet Ave. to Termini
- Little Road- Ducharme Ln. to Allouez Ave.
- Memory Avenue- Libal St. to E. River Dr.
- Miscellaneous Street Patching and Repair

## **Alternate Bids**

- W. Mission Rd- Ducharme Ln. to S. Webster Ave.
- Sunset Circle

In the evaluation of the bids, Village may select one or both of the alternate bids or Village may choose not to accept any alternate bids. The sum of the Base Bid and Alternates accepted by the Owner will determine the "Adjusted Total Base Bid".

The funding for the street resurfacing project is supported primarily by the Public Work's paving account, however a portion of the project cost is allocated to other street and utility accounts. Local Road Improvement Project funding in the amount of approximately \$90,000 is expected from the State and will be used to offset Sunrise Ln paving cost.

Besides paving, the project includes a number of other street and utility repairs. Those include; replacement of defective curb, replacement and adjustment of manhole and inlet covers, spot repairs to inlet and manholes, spot repair to storm and sanitary sewer, replacement of defective sidewalk, and landscape restoration.

Budgeted funds in the Public Works and Utility accounts will allow for the addition of an Alternate bid. Staff is recommending the addition of Alternate No.2 – Sunset Circle at the cost of \$77,375.60 to the base bid amount.

The "Adjusted Total Base Bid" with selection of Alternate Bid No. 2 is \$781,910.60.

In general, weather permitting work may begin any time after the execution of the contract, submittal of project schedule and the shop drawings. For the most part, all work shall be completed by October 4<sup>th</sup>, 2024.

### Suggested Motion:

A recommendation to the Village Board to accept NEA's Base Bid and Alternate No. 2 Bid (Sunset Cir.) for an "Adjusted Total Base Bid" amount of \$781,910.60.

Sean J. Gehin, P.E.

V. of Allouez DPW

## **Bid Tabulations**

VILLAGE OF ALLOUEZ 2024 STREET RESURFACING PROJECT CONTRACT AL-2024-01
Bid Opening: February 8, 2024 at 10:30 am

		Kenney Street (Libal St to Jenkel Ter) +/- 815'			Northeast Asphalt, Inc		х	
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	204.0120	Removing Asphaltic Surface Milling (2-Inch)	SY	3,020	\$2.40	\$7,248.00		\$0.00
2	211.0100.S	Prepare Foundation for Asphaltic Paving	SY	393	\$1.15	\$451.95		\$0.00
3	460.5223.S	HMA Pavement 3 LT 58-28 S	TON	45	\$79.05	\$3,557.25		\$0.00
4	460.5224.S	HMA Pavement 4 LT 58-28 S	TON	365	\$71.05	\$25,933.25		\$0.00
5	-	Spot Repair Concrete Curb & Gutter 24-Inch	LF	250	\$44.85	\$11,212.50		\$0.00
6	611.8110.S	Adjusting Ex. Manhole Covers (Storm and Sanitary)	EA	4	\$950.00	\$3,800.00		\$0.00
7	611.8115.S	Adjusting Ex. Inlet Cover	EA	4	\$800.00	\$3,200.00		\$0.00
8	-	Water For Seeded Areas	MGAL	1	\$40.00	\$40.00		\$0.00
9		Topsoil, Seed, Fertilizer and Mulch	SY	60	\$12.00	\$720.00		\$0.00
			\$56,162.95		\$0.00			

		Sunrise Lane (Libal St to E. Briar Ln.) +/- 1,975' LRIP Funded			Northeas	Northeast Asphalt, Inc		х	
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	204.0110	Removing Asphaltic Surface	SY	6,379	\$2.40	\$15,309.60		\$0.00	
2	211.0100.S	Prepare Foundation for Asphaltic Paving	SY	6,379	\$1.60	\$10,206.40		\$0.00	
3	460.5223.S	HMA Pavement 3 LT 58-28 S	TON	800	\$69.80	\$55,840.00		\$0.00	
4	460.5224.S	HMA Pavement 4 LT 58-28 S	TON	625	\$73.10	\$45,687.50		\$0.00	
5	-	Repair Concrete Driveway 6-Inch	SF	1,000	\$7.10	\$7,100.00		\$0.00	
6	-	Spot Repair Concrete Curb & Gutter 24-Inch	LF	800	\$44.85	\$35,880.00		\$0.00	
7	-	Neenah R-1550 Type C Non-Rock Self Sealed San. MH Cover	EA	7	\$1,500.00	\$10,500.00		\$0.00	
8	611.8110.S	Adjusting Ex. Manhole Covers (Storm)	EA	5	\$950.00	\$4,750.00		\$0.00	
9	611.8115.S	Adjusting Ex. Inlet Covers	EA	10	\$800.00	\$8,000.00		\$0.00	
10	-	Internal Sanitary Sewer Chimney Seal	EA	7	\$600.00	\$4,200.00		\$0.00	
11	628.7015	Inlet Protection, Type C	EA	10	\$95.00	\$950.00		\$0.00	
12	-	Water For Seeded Areas	MGAL	4	\$40.00	\$160.00		\$0.00	
13	-	Topsoil, Seed, Fertilizer and Mulch	SY	180	\$12.00	\$2,160.00		\$0.00	
14	690.015	Sawing Asphalt (At Project Limits)	LF	100	\$1.50	\$150.00		\$0.00	
			\$200,893.50		\$0.00				

		Brenner Place (Termini to Bittersweet Ave.) +/- 875'			Northeas	Northeast Asphalt, Inc		х
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	204.0110	Removing Asphaltic Surface	SY	3,822	\$2.40	\$9,172.80		\$0.00
2	211.0100.S	Prepare Foundation for Asphaltic Paving	SY	3,822	\$2.50	\$9,555.00		\$0.00
3	460.5223.S	HMA Pavement 3 LT 58-28 S	TON	480	\$70.80	\$33,984.00		\$0.00
4	460.5224.S	HMA Pavement 4 LT 58-28 S	TON	375	\$76.35	\$28,631.25		\$0.00
5	-	Spot Repair Concrete Curb & Gutter 24-Inch	LF	310	\$44.85	\$13,903.50		\$0.00
6	-	Neenah R-1550 Type C Non-Rock Self Sealed San. MH Cover	EA	3	\$1,500.00	\$4,500.00		\$0.00
7	611.8110.S	Adjusting Ex. Manhole Covers (Storm)	EA	5	\$950.00	\$4,750.00		\$0.00
8	611.8115.S	Adjusting Ex. Inlet Covers	EA	6	\$800.00	\$4,800.00		\$0.00
9	-	Internal Sanitary Sewer Chimney Seal	EA	3	\$600.00	\$1,800.00		\$0.00
10	628.7015	Inlet Protection, Type C	EA	8	\$95.00	\$760.00		\$0.00
11	-	Water For Seeded Areas	MGAL	1	\$40.00	\$40.00		\$0.00
12	-	Topsoil, Seed, Fertilizer and Mulch	SY	70	\$12.00	\$840.00		\$0.00
13	690.0150	Sawing Asphalt (At Project Limits)	LF	54	\$1.50	\$81.00		\$0.00
			\$112,817.55		\$0.00			

		Little Rd. (W. Allouez Ave. to Du Charme Ln.) +/- 620'			XXX		YYY	
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	204.0110	Removing Asphaltic Surface	SY	1,860	\$2.40	\$4,464.00		\$0.00
2	211.0100.S	Prepare Foundation for Asphaltic Paving	SY	1,860	\$1.50	\$2,790.00		\$0.00
3	460.5223.S	HMA Pavement 3 LT 58-28 S	TON	235	\$69.80	\$16,403.00		\$0.00
4	460.5224.S	HMA Pavement 4 LT 58-28 S	TON	180	\$77.10	\$13,878.00		\$0.00
5	-	Repair Concrete Driveway 6-Inch	SF	400	\$7.10	\$2,840.00		\$0.00
6	-	Spot Repair Concrete Curb & Gutter 24-Inch	LF	300	\$44.85	\$13,455.00		\$0.00
7	-	Neenah R-1550 Type C Non-Rock Self Sealed San. MH Cover	EA	2	\$1,500.00	\$3,000.00		\$0.00
8	611.8110.S	Adjusting Ex. Manhole Covers (Storm)	EA	1	\$950.00	\$950.00		\$0.00
9	611.8115.S	Adjusting Ex. Inlet Covers	EA	4	\$800.00	\$3,200.00		\$0.00
10	-	Neenah R-3067-L Inlet Cover	EA	1	\$1,750.00	\$1,750.00		\$0.00
11	608.3012.S	Storm Sewer Pipe Class III-A 12-Inch	LF	48	\$125.00	\$6,000.00		\$0.00
12	611.1230.S	Catch Basins 2x3-Ft	EA	1	\$3,910.00	\$3,910.00		\$0.00
13	-	Internal Sanitary Sewer Chimney Seal	EA	2	\$600.00	\$1,200.00		\$0.00
14	628.7015	Inlet Protection, Type C	EA	5	\$95.00	\$475.00		\$0.00
15	-	Water For Seeded Areas	MGAL	1	\$40.00	\$40.00		\$0.00
16	-	Topsoil, Seed, Fertilizer and Mulch	SY	70	\$12.00	\$840.00		\$0.00
17	690.0150	Sawing Asphalt (At Project Limits)	LF	54	\$1.50	\$81.00		\$0.00
			\$75,276.00		\$0.00			

		Memory Ave. (Libal St. to E. River Dr.) +/- 1,515'			xxx		YYY	
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	204.0110	Removing Asphaltic Surface	SY	4,900	\$2.40	\$11,760.00		\$0.00
2	211.0100.S	Prepare Foundation for Asphaltic Surface	SY	4,900	\$1.40	\$6,860.00		\$0.00
3	460.5223.S	HMA Pavement 3 LT 58-28 S	TON	620	\$69.10	\$42,842.00		\$0.00
4	460.5224.S	HMA Pavement 4 LT 58-28 S	TON	480	\$73.90	\$35,472.00		\$0.00
5	-	Spot Repair Concrete Curb & Gutter 24-Inch	LF	500	\$44.85	\$22,425.00		\$0.00
6	-	Neenah R-1550 Type C Non-Rock Self Sealed San. MH Cover	EA	5	\$1,500.00	\$7,500.00		\$0.00
7	611.8110.S	Adjusting Ex. Manhole Covers (Storm)	EA	6	\$950.00	\$5,700.00		\$0.00
8	611.8115.S	Adjusting Ex. Inlet Covers	EA	10	\$800.00	\$8,000.00		\$0.00
9	-	Internal Sanitary Sewer Chimney Seal	EA	5	\$600.00	\$3,000.00		\$0.00
10	628.7015	Inlet Protection, Type C	EA	10	\$95.00	\$950.00		\$0.00
11	-	Water For Seeded Areas	MGAL	3	\$40.00	\$120.00		\$0.00
12	-	Topsoil, Seed, Fertilizer and Mulch	SY	115	\$12.00	\$1,380.00		\$0.00
13	690.0150	Sawing Asphalt (At Project Limits)	LF	109	\$1.50	\$163.50		\$0.00
			BTOTAL:	\$146,172.50		\$0.00		

		Street Patching and Miscellaneous Work			Northeast Asphalt, Inc		х	
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	-	Street Patching < 40 sy	SY	150	\$74.00	\$11,100.00		\$0.00
2	-	Street Patching > 40 sy	SY	900	\$43.00	\$38,700.00		\$0.00
3	-	Repair Concrete Driveway 6-Inch	SF	600	\$7.10	\$4,260.00		\$0.00
4	-	Spot Repair Concrete Curb & Gutter 24-Inch	LF	150	\$44.85	\$6,727.50		\$0.00
5	-	Spot Repair Concrete Sidewalk 4-Inch	SF	500	\$7.25	\$3,625.00		\$0.00
6	-	Spot Repair Concrete Sidewalk 6-Inch	SF	500	\$7.10	\$3,550.00		\$0.00
7	-	Neenah R-1550 Type C Non-Rock Storm MH Cover	EA	2	\$1,850.00	\$3,700.00		\$0.00
8	-	Neenah R-3067-L Inlet Cover	EA	2	\$1,675.00	\$3,350.00		\$0.00
9	611.8110.S	Adjusting Ex. Manhole Covers	EA	2	\$1,150.00	\$2,300.00		\$0.00
10	611.8115.S	Adjusting Ex. Inlet Cover	EA	2	\$800.00	\$1,600.00		\$0.00
11		Relay Storm Sewer Pipe Class III-A ≤ 12-inch	LF	100	\$145.00	\$14,500.00		\$0.00
12		Remove and Replace Catch Basins 2x3-Ft	EA	4	\$4,500.00	\$18,000.00		\$0.00
13	-	Topsoil, Seed, Fertilizer and Mulch	SY	150	\$12.00	\$1,800.00		\$0.00
				SU	IBTOTAL	\$113,212.50		\$0.00

AL-2024-01 Total Base Bid:	\$704,535.00	\$0.00	ì
----------------------------	--------------	--------	---

		Alternate 1 - W. Mission St. (Du Charme Ln. to S. Webster Ave.) +/- 910'			Northeast Asphalt, Inc		х	
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	204.0120	Removing Asphaltic Surface Milling (2-Inch)	SY	2,130	\$2.65	\$5,644.50		\$0.00
2	460.5224.S	HMA Pavement 4 LT 58-28 S	TON	250	\$74.30	\$18,575.00		\$0.00
3	-	Spot Repair Concrete Curb & Gutter 24-Inch	LF	270	\$44.85	\$12,109.50		\$0.00
4	611.8110.S	Adjusting Ex. Manhole Covers (Sanitary and Storm)	EA	6	\$950.00	\$5,700.00		\$0.00
5	611.8115.S	Adjusting Ex. Inlet Cover	EA	6	\$800.00	\$4,800.00		\$0.00
6	-	Water For Seeded Areas	MGAL	1	\$40.00	\$40.00		\$0.00
7	-	Topsoil, Seed, Fertilizer and Mulch	SY	60	\$12.00	\$720.00		\$0.00
				SU	BTOTAL:	\$47,589.00		\$0.00

		Alternate 2 - Sunset Circle (Riverside Dr. to Termini) +/- 1.400'			Northeast Asphalt, Inc		х	
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	204.0120	Removing Asphaltic Surface Milling (2-Inch)	SY	3,267	\$2.40	\$7,840.80		\$0.00
2	460.5224.S	HMA Pavement 4 LT 58-28 S	TON	376	\$74.80	\$28,124.80		\$0.00
3	-	Spot Repair Concrete Curb & Gutter 24-Inch	LF	400	\$44.85	\$17,940.00		\$0.00
4	611.8110.S	Adjusting Ex. Manhole Covers (Sanitary and Storm)	EA	15	\$950.00	\$14,250.00		\$0.00
5	611.8115.S	Adjusting Ex. Inlet Cover	EA	10	\$800.00	\$8,000.00		\$0.00
6	-	Water For Seeded Areas	MGAL	2	\$40.00	\$80.00		\$0.00
7	-	Topsoil, Seed, Fertilizer and Mulch	SY	95	\$12.00	\$1,140.00		\$0.00
				SU	BTOTAL:	\$77,375.60		\$0.00

		Supplemental Bid Items		Northeast Asphalt, Inc			х	
ITEM	WisDOT Spec Section No.	Bid Item Description	UNIT	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	-	Excavation Below Subgrade	CY	200	\$20.00	\$4,000.00		\$0.00
2	305.0125.S	Base Aggregate Dense 1 1/4-Inch	CY	200	\$28.00	\$5,600.00		\$0.00
3	305.0135	Base Aggregate Dense 3-Inch	CY	200	\$28.00	\$5,600.00		\$0.00
4	602.0515	Curb Ramp Detectable Warning Field Natural Patina	SF	24	\$35.00	\$840.00		\$0.00
5	-	Geogrid Reinforcement	SY	650	\$2.00	\$1,300.00		\$0.00
6	-	Salvaged Asphaltic Base	CY	250	\$20.00	\$5,000.00		\$0.00
7	611.0420.S	Reconstructing Manholes	EA	2	\$3,300.00	\$6,600.00		\$0.00